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; 100kN/m#%#BZx5| 1.00 | 000 ~ 0.02| 100.28 |3m&EkBZ% -~ - -| 100kN/m%E#B25 | 1.00 | 1261 ~ 1269| 100.28 |3mE#EBZS ~ -
Lt 1.00 002 ~ 780 100.00 | =St | 000 ~ 780 1.93 9.78 znLs 1.00 | 5.00 ~ 1261 100.00 | =nSY | 5.00 ~ 1269 1.93 9.78
2 100kN/m#%#BZ25| 1.00 | 000 ~ 0.09| 10125 |3m&ERBZ% ~ -| 100kN/m%E##B25 | 1.00 | 11.61 ~ 11.90| 101.25 |3m%E#EBZS ~
Lt 1.00 1 009 ~ 787 100.00 | =nllst | 000 ~ 7.87| 1.99 10.06 znLs 1.00 | 5.00 ~ 1161 100.00 | =hS | 5.00 ~ 11.90 | 1.99 10.06
P 100kN/m#%#BZ5| 1.00 | 000 ~ 0.09| 101.27 |3m&ERBZ3 ~ -| 100kN/m%E##B25 | 1.00 | 11.61 ~ 11.90| 101.27 |3mE#EZ3 ~
Lt 1.00 1 009 ~ 787 100.00 | =nllst | 000 ~ 7.87| 1.99 10.06 znLs 1.00 | 5.00 ~ 1161 100.00 | =hS | 5.00 ~ 11.90 | 1.99 10.06
4 100kN/m#%#BZx5| 1.00 | 000 ~ 0.09| 101.51 |3m&ERBZ3 ~ -| 100kN/m%E##BZ25 | 1.00 | 1216 ~ 1250 | 101.31 |3m%E#EZS ~
ZznLst 1.00 1 009 ~ 787 100.00 | =nlst | 000 ~ 7.87| 1.96 9.88 znLs 1.00 |1 5.00 ~ 1216 100.00 | =S | 5,00 ~ 1250 | 1.96 9.88
5 100kN/m#%#BZ5| 1.00 | 000 ~ 0.15| 10214 |3ImEREZ3 ~ -| 100kN/m%E#BZ5 | 1.00 | 1267 ~ 1328| 10214 |3mEEZS ~
Lt 1.00 1015 ~ 793 100.00 | =St | 000 ~ 7.93| 1.93 9.76 znLs 1.00 | 5.00 ~ 1267 100.00 | =nLSY | 5.00 ~ 1328 1.93 9.76
g 100kN/M%Z#8B % % ~ -|3mEEZD ~ -| 100kN/mM%# %% ~ -|3mEHEZS ~
ZnLst 1.00 1 000 ~ 7.14 90.72 | =hst | 0oo ~ 000|176 8.88 znLs 1.00 | 6.00 ~ 9.00 90.72 | #hs | 5.00 ~ 9.00|1.76 8.88
. 100kN/M%Z#B % % ~ -|3mEEZD ~ -| 100kN/mM%# %% ~ -|3mEHEZS ~
ZznLst 1.00 | 0.00 ~ 756 96.69 | TS | 000 ~ 756|248 12.563 znLs 1.00 |1 6.00 ~ 1140 96.69 | Ths | 5.00 ~ 11.40|2.48 12.553
P 100kN/m#%#BZx5| 1.00 | 000 ~ 048 10708 |3m&EkEZ% ~ -| 100kN/m%#8B2% | 1.00 | 11.91 ~ 1380 107.08 |3mE#Z5 ~
ZnLst 1.00 | 0.48 ~ 826 100.00 | =nlsy | 000 ~ 826 1.97 9.96 znLs 1.00 | 5.00 ~ 1191 100.00 | =nRS | 5,00 ~ 1380 1.97 9.96
9 100kN/m#%#BZx5| 1.00 | 000 ~ 1.33| 120.19 |3m&EkEZ% ~ -| 100kN/m%E##BZ25 | 1.00 | 1204 ~ 1920 120.19 |3mEEZS ~
ZznLst 1.00 | 1.33 ~ 912 100.00 | =nllst | 000 ~ 9.12] 213 10.77 znLs 1.00 | 5.00 ~ 1204 100.00 | =S | 5,00 ~ 1920|213 10.77
10 100kN/m#%#BZx5| 1.00 | 000 ~ 18| 12870 |3m&EkEZ3 ~ -| 100kN/m%E##B25 | 1.00 | 11.04 ~ 1980| 12870 |3m&E#BZ3 ~ -
ZnLst 1.00 | 1.86 ~ 9.65 100.00 | =nllst | 000 ~ 9.65] 222 11.22 znLs 1.00 | 5.00 ~ 1104 100.00 | =S | 5.00 ~ 1980|222 11.22
17 100kN/M%#B % % ~ -|3mEEZD ~ -| 100kN/mM%# %% ~ -|3mEHEZS ~
ZznLst 1.00 1000 ~ 7.77 99.76 | =nS 000 ~ 777 1.93 9.76 znLs 1.00 | 6.00 ~ 1260 99.76 | £hS | 5.00 ~ 1260| 1.93 9.76
19 100kN/mM%#8 % % ~ -|3mEEZD ~ -| 100kN/mM%# %% ~ -|3mEHEZS ~
Lo 1.00 | 0.00 ~ 4.64 57.90 | =nLS | 000 ~ 464| 1.86 9.38 znLs 1.00 | 5.00 ~ 56.00 57.90 | =nS | 5.00 ~ 5.00)] 1.86 9.38
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82Z % ~ ImEFEZD ~
Zzh st ~ Zhst ~ Zzh st ~ Zhst ~
100kN/m#E#BZ % ~ ImEFEZRD ~ 100kN/m%#82Z% ~ ImEFEZD ~
Zzh st ~ Zhist ~ zh st ~ Zhst ~
100kN/m#E#BZ % ~ ImEFERD ~ 100kN/m%#82 % ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZThst ~
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